& HERERIER FN4F9A S

< QRHETREBRHRES

FIERF
&R | LAFFORE Y #OYRL 100g HAEEN B (=S A =S 3
2|ER (AR FORITWW (GEn) |AOYRL 100g HAEMEN E BB M
S|HIR [ RATWHER I A TORBEE 200g HEBR IE (=3 A =S 3
4 BE |7 LT RT RO E7vk kg HEBERN B H (=3 c =S 3
5% [HVATAER—A b SNE & kg O |[H#fERN (=3 A =S = S
6|4 |EESY—>T AT TILERR Tke O |®#fER BEotE|RE MRt
TR | ENEDS (1) E7vk kg HEEN (=3 =S A =S 3
8| AE [WIFHLELR—X b IARE—BDK | 250g HEMN E (=3 A =S ]
AR |HTHET =Y — E7vk kg HEBR| I (=3 A =S 3
108 | A — 2 BEse (Fv-) FeCa =8 32¢ HEBERN B H (=30 c =S 3
T ACE | smvkmn Y CRskmsssiiesn | NEIERE 40g,50g HAEBR e MR MR M
124 |WEBLRE (BHOH) | ILES—F 40g,50g O |&E#fERN ot R
134 | WEBTLGR T -E X | ILRS—H 40g,50g HAEMEN B B E M
14|88B |[Fyry (2742) REEHF ke HEBRN B OH (=30 c =S 3
15 4R | BREETT ob (Fe, Fi) he B& ke HAEER E T (=3 - 3
1643 | A4 NAE (H KM KEHEE kg HAEmR| oM M
17|44 | KFEEHE 100g HAEEN B B E
184K |7 77 Aar K-k |b—=F 45g HEER B % (=3 c =S 3
194 | & P/ EE N ) FeCa | Z88 50g HAEER 2 T (=3 - 3
20| 4B [BiE-< v ok vk (CFEET V| BMESKY 150ml HEBR| E % et R M
21 (%8B (Wit (FIva) SNE & 12¢ HAEEN B =3 =R ]
28R (A< () BERAR Tkg HAEmR| 4 BBt E M
23| |(Mov b (B 5g SNE& 1keg HAEER 2 BT (=3 - 3
24[AR [ ArrE)— b—=F 40g HAEmR| 4 oM E M
254K | L 0 WET EL Tkg HAEMEN B =S A =S 3
26| ®iR (WA~ SNE & kg HEBRN B H (=30 : =S 3
27|AE | X ORI (KKK |SNEBS 500g O |®%fEHN ot M RO
28|EiR |Fed V MA htAEm 8g HEEN B % (=3 : =S 3
29|8B [EHIY GRHOB) ZHRES 1kg HEEN E O =S A =S 3
30|ER |Terxymy ST Y{RI-HDEK 500g HEMEN B % (=3 : =S 3
31 [ER | TEEEAEVKE NGRS 1kg HEMEN E =S A =S 3
324 [JLE R~ FEA A Y b (INA=T—) 1kg O |E#fER (= A -G A 3
33|AK (1FH & O A ITIM-HEDK| Tk O |[H#{ER (=30 - c - S 3
AR [hv)-) (AVATAE) |RERSE 1kg O |&E#fER (= A =S A 3
354U [MuEHT ERER Tkg O |®#fER = A=A A 3
36| AFE (ML — A SNE G 40g HEMEN B % (=3 : =S 3
374 | TR -2k (3-) Fe SNE& 50g O |[H#{ER (=30 - c - S 3
38|AK |vuT vy SNE 40g HEBRN B # oM E %




